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Question Number : 1 Question Id : 3210111126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The base which is NOT present in the DNA is:

Options:
1 % adenine

guanine

3 « uracil

thymine

Question Number : 1 Question Id : 3210111126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 2 Question Id : 3210111127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Erythropoietin is a:
Options:

, « cytokine



> u lymphokine

= % chemokine

4 % complement

Question Number : 2 Question Id : 3210111127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 3 Question Id : 3210111128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The scavenger cell that act as macrophage is:

Options:
, % oligodendrocytes

o o microglia

% % schwann cells

4 % astrocytes

Question Number : 3 Question Id : 3210111128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 4 Question Id : 3210111129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Myasthenia gravis is caused due to:

Options:
1 #% infection

> « autoimmune disorder
- » malignancy

4 % nutritional disorder

Question Number : 4 Question Id : 3210111129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FroeafEar afew By &R g 27

Options:
1. = HerHU]

o FI-9faReT fFER
ST ] ﬁ%ﬂm

Question Number : 5 Question Id : 3210111130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The misalignment of the eyes is called as:
Options:

, % myopia



5 # Imarasmus
3 o strabismus

, % Dpresbyopia

Question Number : 5 Question Id : 3210111130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 6 Question Id : 3210111131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hair cells in ear are examples of:
Options:

, % proprioceptors

5 % stereo receptors

- u Dbaroreceptors

4 mechanorecepmra

Question Number : 6 Question Id : 3210111131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Fd H 2 FINFC BFHar 30T 272
Options:

1&5%@@.@



Question Number : 7 Question Id : 3210111132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Acromegaly is due to the excess of the hormone:
Options:

, w Oxytocin

> % aldosterone

-  growth hormone

4 % Vasopressin

Question Number : 7 Question Id : 3210111132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 8 Question Id : 3210111133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The stomach secretes the enzyme:

Options:
| « DPepsin



, s trypsin

5 #% SUCrose

4 % maltase

Question Number : 8 Question Id : 3210111133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 3210111134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The fetal lung is:

Options:

1 % heart

-  placenta

5 u kidney

4 % ovary

Question Number : 9 Question Id : 3210111134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 3210111135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 3210111135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The A and B antigens in the blood group are complex:
Options:

, = polysaccharides

-  Oligosaccharides

5 # lipids

4 % monosaccharides

Question Number : 11 Question Id : 3210111136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2. 3 diphosphoglycerate is plentiful in:
Options:

, = Oligodendrcytes



> u platelets

= « red blood cells

4 % white blood cells

Question Number : 11 Question Id : 3210111136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 12 Question Id : 3210111137 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an example of connective tissue?

Options:
1 « bone

- % heart
% % brain
4 ® nerves

Question Number : 12 Question Id : 3210111137 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 13 Question Id : 3210111138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The membrane that lines the entire abdominal wall is called as:
Options:

1 % descement membrane

o o peritoneum
- w pleural membrane

, % pericardial membrane

Question Number : 13 Question Id : 3210111138 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 14 Question Id : 3210111139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sebaceous glands are located in:

Options:
1 # stratum corneum

5 u epidermis



3 o dermis

4 % endodermis

Question Number : 14 Question Id : 3210111139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 15 Question Id : 3210111140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The root value C8 - T1 represents:

Options:
1 % femoral nerve

> % phrenic nerve
% % sciatic nerve

4 « ulnar

Question Number : 15 Question Id : 3210111140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 16 Question Id : 3210111141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The subdivision of systemic circulation in which blood from the abdominal organs circulates through the liver before

returning to the heart is:
Options:
, + Dportal circulation

- % bronchial circulation

- % pulmonary circulation

4, % coronary circulation

Question Number : 16 Question Id : 3210111141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 17 Question Id : 3210111142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The voice box is called:
Options:

, % pharynx

o o larynx



3 % trachea

4 % alveoli

Question Number : 17 Question Id : 3210111142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 3210111143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Taenia coli is present in:
Options:

, w oesophagus

- % stomach
= % small intestine

e, large intestine

Question Number : 18 Question Id : 3210111143 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 19 Question Id : 3210111144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a part of renal corpuscle?

Options:
1 % Afferent arteriole

- % Efferent arteriole

- » DBowman'’s capsule

4 « Loopof Henle

Question Number : 19 Question Id : 3210111144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 3210111145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The final metabolic change of the sperm in fallopian tube is called as:

Options:
1 % mitosis

- 4 Capacitation



- w implantation

4 % fertilization

Question Number : 20 Question Id : 3210111145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 21 Question Id : 3210111146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 21 Question Id : 3210111146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The muscle which supports pelvic organs, especially during defecation is:
Options:

1 #% ischiocavernosus

- % bulbospongiosus



5 o COCCygeus

4 % bulbo cavernous

Question Number : 22 Question Id : 3210111147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Haversian canal is seen in:
Options:

1 « bone

o » kidney

3 % brain

4 % muscle

Question Number : 22 Question Id : 3210111147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 23 Question Id : 3210111148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Movement of tongue is controlled by:

Options:
, % trigeminal nerve

> % Olfactory nerve

- % Optic nerve



s hvpoglossal nerve

Question Number : 23 Question Id : 3210111148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 24 Question Id : 3210111149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a compensatory training strategy?

Options:
1 % Substitution

> % Adaptation

= % Assistive devices

4 Behavioural shaping

Question Number : 24 Question Id : 3210111149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 25 Question Id : 3210111150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ability to sustain forces repeatedly or to generate forces over a period of time is called as muscle:
Options:

, % Strength

. % Dpower

3 « endurance

, w fatigue

Question Number : 25 Question Id : 3210111150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 26 Question Id : 3210111151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Basic activities of daily living does NOT involve:
Options:

, w oralhygiene

> u Showering

- u toilet hygiene



4 « meditation

Question Number : 26 Question Id : 3210111151 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 27 Question Id : 3210111152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which type of gait used when a non-weight-bearing status is required on one lower extremity?
Options:

, % Iwo point gait

o o Three point gait

- w Four point gait

4 w Five point gait

Question Number : 27 Question Id : 3210111152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 28 Question Id : 3210111153 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the correct order of stance phase of gait from the given options.

Options:
; w Heelstrike. midstance. foot flat, heel-off and toe off

» % Foot flat, Heel strike, midstance, heel-off and toe off
5 Heel strike, foot flat. midstance. heel-off and toe off

4 % Heel strike, foot flat. midstance, toe off and heel-off

Question Number : 28 Question Id : 3210111153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 29 Question Id : 3210111154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the non-equilibrium coordination test among the given options.

Options:
| FIngernose test

- % Walk in circle

- » Standing one foot



, = March in place

Question Number : 29 Question Id : 3210111154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 30 Question Id : 3210111155 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The orthoses that extend from the shoe to thigh is:

Options:
1 % ankle — foot orthoses

> « knee — ankle — foot orthoses

- % hip —knee — ankle — foot orthoses

4 % knee orthoses

Question Number : 30 Question Id : 3210111155 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 31 Question Id : 3210111156 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Visual analogue scale is used to assess:

Options:

- % coordination

- % mobility

4  Dain

Question Number : 31 Question Id : 3210111156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 32 Question Id : 3210111157 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Hoffmann (H) reflex is a useful diagnostic measure of:

Options:
, + radiculopathy

% myasthenia gravis

ik

- % myotonic



4 % fracture

Question Number : 32 Question Id : 3210111157 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 33 Question Id : 3210111158 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT an advantage of myoelectric prosthesis?

Options:
1 % Natural muscle stimuli

- % Accurate control

Decreased body movement

» Proprioceptive feed back

Question Number : 33 Question Id : 3210111158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 34 Question Id : 3210111159 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 34 Question Id : 3210111159 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cock—up splint is used in:
Options:

, w Temoral nerve palsy

o o radial nerve palsy

- u Ulnar nerve palsy

, % median nerve palsy

Question Number : 35 Question Id : 3210111160 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Making a patient lay on the abdomen with two pillows under the hip helps in drainage of the bronchial secretions from
the:

Options:

, w lateral segment of middle lobe

> % inferior segment of lower lobe

o o Superior segment of lower lobe



, w medial segment of middle lobe

Question Number : 35 Question Id : 3210111160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 36 Question Id : 3210111161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Frenkel’s exercise are useful in:
Options:

, % Dpleural effusion

- % carcinoma bronchus

-  peripheral neuritis

, % pulmonary embolism

Question Number : 36 Question Id : 3210111161 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 37 Question Id : 3210111162 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

For a patient with chronic bronchitis, chest infection needs:
Options:

1 % Transcutaneous nerve stimulation

-  Postural drainage

5 % Splinting

4 w Ultrasonic therapy

Question Number : 37 Question Id : 3210111162 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 38 Question Id : 3210111163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ventilators may NOT be:

Options:
| « temperature cycled

> w pressure cycled

- % Volume cycled



4 w time cycled

Question Number : 38 Question Id : 3210111163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 39 Question Id : 3210111164 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Exercise testing is indicated in:
Options:

, % unstable angina

- » dissecting aneurysm

5 o suspected ischemic heart disease

, = all of the other options

Question Number : 39 Question Id : 3210111164 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 40 Question Id : 3210111165 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Bluish discoloration of the skin and mucus membrane caused by hypoxemia is called as:

Options:
, = tachypnea

grunting
% % stridor

4 CYanosis

Question Number : 40 Question Id : 3210111165 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 41 Question Id : 3210111166 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a relaxation position for a breathless patient is?

Options:
, w High side lying
Erect sitting

2.V

- u Forward lean sitting



, w Relaxed sifting

Question Number : 41 Question Id : 3210111166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 42 Question Id : 3210111167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
On percussion. increased resonance note is seen in:

Options:
1 % consolidation

> w collapse
- » pleural effusion

4 « Dbneumothorax

Question Number : 42 Question Id : 3210111167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TH R, frmed o= & iy R & 22
Options:

. HRUEA (FEfesE)

1.

> % Hdd

A i EEE



FTHTUFH

- A

Question Number : 43 Question Id : 3210111168 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT done to mobilize the arm in case of hemiplegics?

Options:
, w Elongation of the trunk

> % Movement of the scapula

z « Adduction of the arm

4 % Elevation of the arm

Question Number : 43 Question Id : 3210111168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 44 Question Id : 3210111169 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 44 Question Id : 3210111169 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In proprioceptive neuromuscular facilitation. upper extremity diagonal 1 flexion is:
Options:

| % extension, adduction, external rotation

-  flexion, adduction, external rotation
5 % flexion. abduction. external rotation

4 w fHexion, adduction, internal rotation

Question Number : 45 Question Id : 3210111170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In manual muscle testing grades. the grade of full available range of motion, against gravity and moderate manual

resistance, is:
Options:
1 % five

- u fourplus

2 « four

4 = fiveplus

Question Number : 45 Question Id : 3210111170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 46 Question Id : 3210111171 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the my tome root value of hip flexion from the given options.

Options:

RIS

ol TAES

o “TI2iT3

Question Number : 46 Question Id : 3210111171 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 47 Question Id : 3210111172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 47 Question Id : 3210111172 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a locomotor training strategy?
Options:

, w Parallel bar progression

- % Indoor over ground progression

-  Relaxation progression

4 % Outdoor over ground progression

Question Number : 48 Question Id : 3210111173 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to modified Ashworth scale for grading spasticity, difficult passive movement is categorized under:

Options:
1 % Grade 4

> o Grade 3
3 % Grade 2

4 % Gradel

Question Number : 48 Question Id : 3210111173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 49 Question Id : 3210111174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Bridging procedure involves:

Options:

, = Weight bearing through shoulders

5 u Weight bearing through hips
- u Wweight bearing through knee

4 « Weight bearing through feet and ankles

Question Number : 49 Question Id : 3210111174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 50 Question Id : 3210111175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A resisting force other than that provided by gravity and friction may be provided by:
Options:

, = Physiotherapist



5 @ Wweights

5 ® Springs

4 « all of the other options

Question Number : 50 Question Id : 3210111175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 51 Question Id : 3210111176 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Prone kneeling posture is useful for the patients with:

Options:
1 % arthritis

o o Vertigo
- w parkinsonism

4 % Spondylitis

Question Number : 51 Question Id : 3210111176 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 52 Question Id : 3210111177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an example for non-weight-bearing free exercises for the planta flexors?

Options:
, w Half standing

- o Toe pointing

5 # Heelrising

, = Hopping

Question Number : 52 Question Id : 3210111177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 53 Question Id : 3210111178 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The range of motion of external rotation of shoulder joint in longitudinal axis of humerus is:
Options:

, w 40 degrees



5 w 50 degrees

i 60 degrees

4 ® 70degrees

Question Number : 53 Question Id : 3210111178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 54 Question Id : 3210111179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is adapted to prevent stump edema in case of knee amputation?

Options:
, w DBridging

- » Wweight and pulley circuit exercises

-  DBandaging

4 % Resisted exercises

Question Number : 54 Question Id : 3210111179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 55 Question Id : 3210111180 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT an indication of hydrotherapy?

Options:
1 % Suture line closed

- u Stabilized patient

-  lmmobilized patient

4 % No infection in suture

Question Number : 55 Question Id : 3210111180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 56 Question Id : 3210111181 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following technique does NOT promote muscle relaxation?
Options:

| % Massage



o o Cold therapy

= % Traction

4 % Infra-red

Question Number : 56 Question Id : 3210111181 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 57 Question Id : 3210111182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ape—thumb deformity is seen in cases ofi

Options:
, w Temoral nerve palsy

> w radial nerve palsy

- % ulnar nerve palsy

4  median nerve palsy

Question Number : 57 Question Id : 3210111182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 58 Question Id : 3210111183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following exercises is NOT safe during pregnancy?

Options:
] ® Posture exercises

- % Abdominal exercises

- o Fire hydrant exercises

4 % Stabilization exercises

Question Number : 58 Question Id : 3210111183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 59 Question Id : 3210111184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The interferential therapy frequency for micturition disorder is:

Options:
| ® 5-2000Hz



> % 2-2000Hz
5 « 0.1-2000 Hz

4 % 1-2000Hz

Question Number : 59 Question Id : 3210111184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, % 5 - 2000 Hz
. % 2 - 2000 Hz
2« 0.1 - 2000 Hz

. % 1 - 2000 Hz

Question Number : 60 Question Id : 3210111185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In case of axilla burns. the abduction of the arms needs to be maintained at a minimum of’
Options:

; w 30degrees

> # 45 degrees

- u 70 degrees

o, 90 degrees

Question Number : 60 Question Id : 3210111185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 61 Question Id : 3210111186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
After muscle denervation, the denervation potentials will appear in:

Options:
i« 15-20 days

5 w 10-15days

5 ® 3-10 days

4 = 0-5days

Question Number : 61 Question Id : 3210111186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 62 Question Id : 3210111187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Halo pelvic traction is used to correct:
Options:

1 % femur fracture



o o deformity of spine

- » knee immobility

4, = hip instability

Question Number : 62 Question Id : 3210111187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 63 Question Id : 3210111188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Bennet’s fracture is the fracture of:
Options:

, « base of first metacarpal

- % base of first metatarsal

- w Dbase of second metacarpal

4 % base of second metatarsal

Question Number : 63 Question Id : 3210111188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 64 Question Id : 3210111189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Volkmann’s ischemic contracture is due to occlusion of:
Options:

, w femoral artery

-, u carotid artery
o o brachial artery

, = Dpopliteal artery

Question Number : 64 Question Id : 3210111189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 65 Question Id : 3210111190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Great toe extension test is conducted for cases of:
Options:

, = Madelung’s deformity



> « flat foot

5 % COXa vara

genu valgus

Question Number : 65 Question Id : 3210111190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 66 Question Id : 3210111191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Fusion of two or more adjacent vertebra leads to:
Options:

1 % Scoliosis

- % Kyphosis

- w Sprangel’s shoulder

4 Klippel-feil syndrome

Question Number : 66 Question Id : 3210111191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 67 Question Id : 3210111192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Genu varum is:

Options:

1 i bow legs

- % fracture of femur

- % flat foot

4 % cOXavara

Question Number : 67 Question Id : 3210111192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 68 Question Id : 3210111193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Pain in metatarsal region is known as:
Options:

1 % hammer toe



> w kyphosis

= « Morton’s disease

4 % Descavus

Question Number : 68 Question Id : 3210111193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 69 Question Id : 3210111194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Lachman’s test is used to diagnose the injury of:

Options:
, % Posterior cruciate ligament

-  anterior cruciate ligament

5 % medial collateral ligament

, = lateral collateral ligament

Question Number : 69 Question Id : 3210111194 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 70 Question Id : 3210111195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Flexion injury of the cervical spine causes:

Options:
| « anterior cord syndrome

> % posterior cord syndrome

5 % brown-sequard syndrome

, w cauda-e-quina syndrome

Question Number : 70 Question Id : 3210111195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 71 Question Id : 3210111196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the correct statement out of the given options.

Options:
1. %

Gullain — Barre Landry syndrome pathology occurs initially in axonal degeneration and secondly in demyelination.



o W
In diabetic amylotrophy, the symptoms include distal leg pain and exaggerated tendon reflexes.

- » In carcinomatous neuropathy, paralysis of palate is usually the earliest neurological symptom.

4 <
In lead neuropathy, pathology starts with changes in myelin sheath followed by wallerian degeneration.

Question Number : 71 Question Id : 3210111196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 72 Question Id : 3210111197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The colour of 20 ampere main fuse is:

Options:
1 % white

> % bloe

5 o Yyellow

4 % red

Question Number : 72 Question Id : 3210111197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 73 Question Id : 3210111198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In transcutaneous nerve stimulation, the neurotransmitter released at the spinal level to reduce pain is:

Options:
, w dopamine

5 of endorphin

3 % adrenaline

4 = acetylcholine

Question Number : 73 Question Id : 3210111198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 74 Question Id : 3210111199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following is NOT true about ice therapy?
Options:
, w Promotes repair

- % Reduces pain

-  Provides inhibitory signals

, = Reduces spasticity

Question Number : 74 Question Id : 3210111199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 75 Question Id : 3210111200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Microwaves or decimetre waves have wavelength of;

Options:
; ® 600-500cm
5 % 400 -500cm

s % 100 - 200 cm

4 « 1-100cm

Question Number : 75 Question Id : 3210111200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 76 Question Id : 3210111201 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a function of infra-red rays?

Options:
, w Relief of pain

- % Relaxation of muscle

= o Decreases blood supply

4 % Reduces arthritis

Question Number : 76 Question Id : 3210111201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 77 Question Id : 3210111202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is true about the Faradic type of current?



Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

, Rate of impulse is 50 - 100 per second

- Impulse duration more than 10 milliseconds

= Used for stimulation of denervated muscle

4 Also known as interrupted current

Question Number : 77 Question Id : 3210111202 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:
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Question Number : 78 Question Id : 3210111203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to law of Grotthus. when electromagnetic rays strike a new medium:

Options:
, = they may be absorbed and not produce an effect

5 o they may be absorbed and produce an effect

- » they may be refracted and not produce an effect

, w they may be refracted and produce an effect



Question Number : 78 Question Id : 3210111203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 79 Question Id : 3210111204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an indication of laser treatment?

Options:
1 % Skin infection

- u Epilepsy

5 o Soft tissue injury

4 % Pneumonia

Question Number : 79 Question Id : 3210111204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 80 Question Id : 3210111205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The time of air cooled lamp E2 is calculated by:

Options:
1 % E1ltime X one

> % EIl time X one and half
z % El time X two

4 +« El time X two and half

Question Number : 80 Question Id : 3210111205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 81 Question Id : 3210111206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The removal of an entire lung is called as:
Options:

L prneumonectomy

- % lobectomy

5 w segmental resection

4 = Wedge resection

Question Number : 81 Question Id : 3210111206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



W s FH At @ Sfear @ FEr S §

Options:

.« BIHe e

Question Number : 82 Question Id : 3210111207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the cause of spontaneous closed pneumothorax?

Options:
1 % Gun shot

- + Rupture of emphysematous bulla

% % Blunt trauma

4 = latrogenic

Question Number : 82 Question Id : 3210111207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 83 Question Id : 3210111208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following is INCORRECT with respect to pectus excavatum?
Options:
, » Overgrowth of lower costal cartilages and ribs

- % Impaired ventilator function

- w Depression of lower end of sternum

4 Pigeon chest

Question Number : 83 Question Id : 3210111208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 84 Question Id : 3210111209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following chemical wrritant is NOT injected to pleural cavity in case of pleurodesis?

Options:
1 % Tale

- « Amoxicillin

5 w letracycline

4 % Silver nitrate

Question Number : 84 Question Id : 3210111209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 85 Question Id : 3210111210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 85 Question Id : 3210111210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pressure overload is seen in which of the following conditions

Options:
, w transposition of great vessels

- w atrial septal defect
- » Dpersistent ductus arteriosus

4 « coarctation of aorta

Question Number : 86 Question Id : 3210111211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which one of the following is INCORRECT about the piggy back technique of cardiac transplantation?

Options:



, « Cardectomy is done

- % It isa heterotopic technique

- » Recipient’s heart is left in situ

, % Superior and inferior venacava of the donor heart are ligated

Question Number : 86 Question Id : 3210111211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 87 Question Id : 3210111212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT inflamed due to Buerger’s disease?

Options:
1 « Muscle

> % Artery
3 % Vein

4 % Nerve

Question Number : 87 Question Id : 3210111212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 88 Question Id : 3210111213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cockett’s perforators are present:

Options:
1 % above elbow

- % below elbow
= « above ankle

4 % below ankle

Question Number : 88 Question Id : 3210111213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 89 Question Id : 3210111214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In case of Raynaud’s disease, the procedure done to improve circulation is called:

Options:



, w endarterectomy

o o cervical sympathectomy

- » lumbar sympathectomy

, % sacral sympathectomy

Question Number : 89 Question Id : 3210111214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 90 Question Id : 3210111215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most common histological type of lung carcinoma is:

Options:
1 % oat cell carcinoma

> « adenocarcinoma

- % Ssquamous cell carcinoma

4 % alveolar cell carcinoma

Question Number : 90 Question Id : 3210111215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 91 Question Id : 3210111216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The division of psychology dealing with how individuals are affected by other people is called:
Options:

, w Industrial psychology

5 ® counselling psychology

= % clinical psychology

4 « Social psychology

Question Number : 91 Question Id : 3210111216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 92 Question Id : 3210111217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Personality and behavioural patterns are functions of:

Options:



1 « frontal lobe

parietal lobe
temporal lobe

occipital lobe

Question Number : 92 Question Id : 3210111217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 93 Question Id : 3210111218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a monocular cue?

Options:
1 % Clearness

- % Shadows

- % Interposition

4 + Retinal disparity

Question Number : 93 Question Id : 3210111218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 3210111219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The fundamental technique used to allay anxiety caused by conflicts is:
Options:

, w Tegression

o o Tepression

5 % progression

4 % reaction formation

Question Number : 94 Question Id : 3210111219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 3210111220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The kind of motion seen on television is:
Options:



1 % induced movement
- % real motion

- o Stroboscopic motion

4 % autokinetic movement

Question Number : 95 Question Id : 3210111220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 96 Question Id : 3210111221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The process of converting physical energy into activity within nervous system is called as:

Options:
| % Tegression

- % progression

= % transmission

4 « transduction

Question Number : 96 Question Id : 3210111221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 3210111222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The ability to extract information as a result of experience is called as:

Options:
, + perceptual learning

- % parallel learning

- u forward learning

4 % Dprogressive learning

Question Number : 97 Question Id : 3210111222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HTHT & IROTATIRT SR et S &THar 1 gl e ¢

Options:
| v HIURUTcHSF frator

5w 3EECr RO

Question Number : 98 Question Id : 3210111223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Damage to the right parietal association cortex results in:

Options:



, w mmemory impairment
reading problems

acalculia

.W
®

contralateral neglect

Question Number : 98 Question Id : 3210111223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 3210111224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The study of behavioural patterns that are typical of a particular species is called:

Options:

, w entomology

- u ecology
- o cthology

4 % epidemiology

Question Number : 99 Question Id : 3210111224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 100 Question Id ;: 3210111225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The perspective which relates the behaviour to functions of the body is called as:

Options:
1 ® social perspective

- % cognitive perspective

- u behavioural perspective

4 « biological perspective

Question Number : 100 Question Id : 3210111225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 25
Number of Questionsto be attempted: 25
Section Marks: 25
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 32101138
Question Shuffling Allowed : Yes

Question Number : 101 Question 1d : 3210111226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the full form of CFL?
Options:

| % Compressed Fluorescent lamp

-~ % Crystal Fluorescent lamp

3 Compact Fluorescent lamp

4 % Cool Fluorescent lamp

Question Number : 101 Question Id : 3210111226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. » Compressed fluorescent lamp (F9E5 FaRIHE #49)
, « Crystal fluorescent lamp (fFFeer weiide =)
- « Compact fluorescent lamp (FTEdFe FREe o)

, » Cool fluorescent lamp (et FAIHE o)

Question Number : 102 Question Id ;: 3210111227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Currently who is the Defense Minister of India?

Options:



, w Sushma Swaraj

Rajnath singh

-,

3 « Nirmala Sitharaman

Smriti irani

o
&

Question Number : 102 Question Id : 3210111227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 103 Question Id : 3210111228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. %Tﬁl’

Question Number : 103 Question Id : 3210111228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which is the nearest planet of Sun?

Options:



1 ® Mars
- % Earth

5 o Mercury

4 % Venus

Question Number : 104 Question Id : 3210111229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is latitude 23%:° N, in the Northern Hemisphere is called?

Options:
, w Tropic of Capricorn

- % Antarctic Circle

o of Tropic of Cancer

4 % Arctic Circle

Question Number : 104 Question Id : 3210111229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 105 Question Id : 3210111230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id : 3210111230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ant bites, injects which acidic liquid?
Options:

1 % Acetic acid

> % Ascorbic acid

z « formic acid

4 % Tartaric acid

Sub-Section Number: 2
Sub-Section 1d: 32101139
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 3210111231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word from the alternatives which is analogues to the given terms:

Kilogram, Pound. Gram.
Options:

i Decigram

5 % AnNgstroms

%z % Micro meter

4 % Joules



Question Number : 106 Question Id : 3210111231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 107 Question Id : 3210111232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Read the question and answer from the given information:

Statement:
1. Some Crayons are Pencils.
2. All the Pencils are Pastels

conclusions
1. All the Pastels are Pencils
2. Some of the Crayons are Pastels
Options:
, w Only (1) conclusion follows

o o Only (2) conclusion follows

- u Neither (1) or (2) follows

, % Both (1) and (2) follows

Question Number : 107 Question Id : 3210111232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 108 Question Id : 3210111233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a certain code JUTE is written as QFGV, Then how the word “WALK’ could be written in that code language?

Options:
, ® DCGP

5> « DZOP
s % ZCTK

4 % OKUR

Question Number : 108 Question Id : 3210111233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 109 Question Id : 3210111234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many triangles are there in the following figure?

i

y e

Options:
1 ® 16

Question Number : 109 Question Id : 3210111234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 110 Question Id ;: 3210111235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following Venn diagram shows information about number of persons who like variety of types of Chocolates
produced by company ZXYX during a survey in the school LMN

How many students like chocolates of type A and B but not C?

Options:
1 ® 18

2_%8
3_%16

4. ¢ 12

Question Number : 110 Question Id : 3210111235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 111 Question Id : 3210111236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Study the following figure carefully. There is an analogues relation between the first and second pairs. Choose the
missing figures from the alternatives such that they form pairs.

. B -
JREE B F &y

Options -
. V| O
Y

VO

Question Number : 111 Question Id : 3210111236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question Id : 3210111237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What would be the missing term in the following series.

3, 15,150, 2250, 2, 1125000
Options:

;% 40000

5 « 45000

5 % 36000



4 % 30000

Question Number : 112 Question Id : 3210111237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

frafaf@e sofr & goa 9 F4r gem?

3, 15,150, 2250, ?, 1125000
Options:

, = 40000
2_J'45000
- % 36000

., # 30000

Question Number : 113 Question Id : 3210111238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

At present. the ratio of the ages of Karthik and Varun is 5 : 6. After 6 vears, Karthik’s age will be 26 vears. What is
Varun's age at present?

Options:

1 ® 20

> o 24
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2:{
I-.2
o

Question Number : 113 Question Id : 3210111238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 ® 20

e 24



Question Number : 114 Question Id ;: 3210111239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If MINER can be written as 13914518, how can RULE be written?

Options:
1 % 1735724

5 % 1810962
5 o 1821125

4 % 192036

Question Number : 114 Question 1d : 3210111239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IfE T = 9T # MINER & 13914518 for@r 31 @evar g, & 397 &= & RULE =T &3 forgr =

HehaT 87
Options:

= 1735724
. % 1810962
5 v 1821125

., = 192936

Question Number : 115 Question Id ;: 3210111240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If L stands for — . M stands for — N stands for =, P stands for =+,

then what would be the result of the following expression

‘40N2ZL160P40M20°7
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1 160



- 140
5 80

4 100

Question Number : 115 Question Id : 3210111240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I L, + & Awha Far g, M, - F %R = & N, x # @whg Far g, 3P, - # Fwhe
T g, af AraeaT saas T AT F47 2E?

40N2L160P40M20

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

, 160

, 140
- 80

. 100

Sub-Section Number: 3
Sub-Section 1d: 32101140
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 3210111241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 50% of (a—b) = 30% of (a+ b). then what percent of a is b?

Options:

% 20%
o v 25%
o 3{}0:’6

I 350.-’6

Question Number : 116 Question Id : 3210111241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
TfE (a—Db) FT50% = (a+ b)FT 30%, ar a, b = g gfaed 22

Options:

Question Number : 117 Question Id : 3210111242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ifx:y =3:4 .then (4x+ by):(bx—2y) is:

Options:

1.v 7

Question Number : 117 Question Id : 3210111242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o x:y=3:4, @ (4x+5y):(5x—2y) &

Options:
32

L ¥



Question Number : 118 Question Id : 3210111243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ofe V3°=729, @& n & HASA g
Options:

1 % 6

2_%‘38

4 v 12

Question Number : 118 Question Id : 3210111243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If v32=729 ,then value ofn is:

Options:
1 6

Question Number : 119 Question Id : 3210111244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Alice purchased a laptop at % th of its selling price and sold it at 8% more than its selling price. Then the percentage of
gain is:

Options:
1 = 100.-’6

2 v 20%



L% 25%

Question Number : 119 Question Id : 3210111244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 120 Question 1d : 3210111245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Allen and Benny together can complete a particular work in 4 days. If Allen alone can complete the same work in 12
days, then in how many days can Benny alone complete that work?

Options:
| O days

5 w 1 days

5 w O days

4 w 10 days

Question Number : 120 Question Id : 3210111245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



5« 8 fot
4 % 10 f&=

Question Number : 121 Question Id : 3210111246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Alexa travels from the town A to town B at 30 kmvhr and comes back to the starting point 70 km/hr. Then her
average speed during the whole journey is:

Options:
1 % 40 km/r

o o 42 km/hr
z % 46 km/hr

4 % 48 km/hr

Question Number : 121 Question Id : 3210111246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TolrdT 9T A T @Y B I & TIT 30 km/hr &7 =TT F I1ET FET § 3T 70 kmihr @ T ¥ 3RS
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Options:

1 # 40 km/hr
o d 42 km/hr
=z % 46 km/hr

4 % 48 km/hr

Question Number : 122 Question 1d : 3210111247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following diagram. KL = [M.If CK = 2x+ 3 and CM = 4x ., find x.

Options:



2 o 1.5

Question Number : 122 Question Id : 3210111247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TR "I & KL2IM| IfE CK=2x+3 J9T CM = 4x, x & AT AT ST

Options:
1 & 1

Question Number : 123 Question Id : 3210111248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sum of money was put at simple interest at a certain rate for 3 years. Had it been put at 2% higher rate, it would have

fetched T 360 more. Then the sum is:
Options:

. % T4000
- % T 5000
- » 6000

4 % 27000



Question Number : 123 Question Id : 3210111248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TF T F 3 I¥ F v v BT X W AR s W ORI o1 3fe 39 2% 3= a7 W g
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Options:

. % T4,000

, % 5,000
. v 36,000

4, % 7,000

Question Number : 124 Question Id : 3210111249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
afe v frafie agegs & safte HIoT &7 A9 108 &, o agey # geat H FE@;w

Options:
1. ¢ O

3_-5-‘39

Question Number : 124 Question Id : 3210111249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the measure of an interior angle of a regular polygon is 108. then the number of sides in the polygon is:

Options:
1.9 3

Question Number : 125 Question 1d : 3210111250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
The x -intercept and the y -intercept of the equation

3x—4y+ 12= 0 are of the form:
Options:
, = X-interceptis 3, y -intercept is 4

> @ X-interceptis -3,y -intercept is 4
- w X-interceptis 4, y-intercept is 3

4  X-interceptis -4,y -intercept is 3

Question Number : 125 Question Id : 3210111250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

frafof@e g & x AR y - 37 W ia=og g = HfS
3x—4y+12=10
Options:

. x 3T oY gfa=de g 3 8, y T W ufa=og Rig 4 &

x 38T 9 Sfoeog g -3 &, y 3T W afa=og Rig 4

o ®

x ¥eT 9 Fioeog fog 4 7, y 38T W ia=og fog 3
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